INDS RACK

NETWORK CABINET

PRO
SERIES

INSTALLATION INSTRUCTIONS

M6 Hexagon Key M8 Hexagon Key M12 Hexagon Key

NPT T

Tool Include [_Yes[_INo  Tootinclude[_Ives[_INo  Tool include [_ves[_Ino

Phillips Screwdriv

\\

ool Include [_]Yes[_INo  Tool include [_ves[_Ino




PRO SERIES ¥V INDa RACK

INSTALLATION INSTRUCTIONS / NETWORK CABINET

M8*20 Screws ‘15 Pcs)
Spring Panel 48

Vertical Main Frame

Inserting the end of the
Frame into the Slots on -
the Top & Bottom Frame Locking with Screws

Qgeeoe 2

2 £ 5% ﬁ&é

e
@ o O
St ey +

M6*12 Screws & 2.5" Castors & Installing Castors Installation Completed
M6 Nuts (16 Sets) Adjustable Feet (4 Sets Each) & Adjustable Feet Ej;;gg L“L’d"}:';;a ks

2

©
ST, T

M6*12 Screws

R s o

Installing Top Cover

e



PRO SERIES I’  IND4& RACK

INSTALLATION INSTRUCTIONS / NETWORK CABINET

STEP D
(2]

F ” BB G
TRy Y

STT5%10 Self- Taprmg

Mounting Angle Screws (8 Pcs

Installing Mounting Angle

»
ME Inserting Nuts {2 Pes)
£ ME&*12 Screws |2 Pos)

Mounting Profile Connecting with Bottom Frame

| e
@ +
The Hinger Bolt inserts

Step F Completed Show

Step E Completed Show

into the Hole of Door Bolt




PRO SERIES I’ IND& RACK

INSTALLATION INSTRUCTIONS ,- W NETWORK CABINET

” Lock Fasterner Locking

installing Side Doors into The Frame

Installation Completed




